PAPER - 2 : STRATEGIC FINANCIAL MANAGEMENT
Question No.1 is compulsory.
Attempt any four out of the remaining five questions.

Wherever appropriate, suitable assumptions should be made and indicated in the answer by
the candidate.

Working notes should form part of the answer.
Question 1

1. (a) A Ltd., a listed company, is considering merger of B Ltd. which is also a listed
company, with itself by means of a stock swap (exchange). B Ltd. has agreed to a
plan under which A Ltd. will offer the current market value of B Ltd.'s shares.

Additional Information:
Particulars A Ltd. B Ltd.
Earnings after tax (<) 10,00,000 2,50,000
Number of shares outstanding 4,00,000 2,00,000
Current market price () per share 50 20

On the basis of above information, you are required to calculate the following:

(i) What is the pre-merger Earnings per Share (EPS) and P/E ratio of both the
companies?

(i) If B Ltd.'s P/E is 10, what is its current market price per share?
What is the exchange ratio? What will A Ltd.'s post-merger EPS be?

(i) What must the exchange ratio be for A Ltd.'s Pre-merger and Post-merger EPS
to be the same? (8 Marks)

(b) P Ltd. is contemplating to borrow an amount of 50 crores for a period of 3 months in the
coming 6 months time from now. The current rate of interest is 8% per annum but it may
go up in 6 months time. The company wants to hedge itself against the likely increase in
interest rate.

The Company's Bankers quoted an FRA (Forward Rate Agreement) at 8.30% per annum.

Compute the effect of FRA and actual rate of interest cost to the company, if the actual
rate of interest during consideration period happens to be (i) 8.60% p.a., or (i) 7.80% p.a.

(Show your workings on the basis of months) (8 Marks)
(c) State briefly the basic characteristics of venture capital financing? (4 Marks)
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Answer

(@) (i) Before Merger

A Ltd. B Ltd.
Earning after tax (%) 10,00,000 | 2,50,000
No. of shares outstanding 4,00,000 | 2,00,000
EPS %250 31.25
Current Market Price/Share T 50 T20
P/E Ratio 20 16

(ii) 1fBLtd.’s P/E Ratiois 10
Then, it's Current Market Price = 10 x ¥ 1.25 =3 12.50
Exchange Ratio = 12.50 : 50 i.e. 1 share of A Ltd. for every 4 shares of B Ltd.
No. of shares to be issued = 50,000
A Ltd. Post-Merger EPS

Post-Merger Earning (10,00,000 + 2,50,000) T 12,50,000
No. of Equity Shares after Merger (4,00,000 + 50,000) 4,50,000
EPS % 2.78
(iii) Calculation of Exchange Ratio for A Ltd.’s pre-merger and post-merger EPS to
be the same

= Total earnings/Pre-merger EPS of A Ltd.
=3%12,50,000/% 2.50 = 5,00,000 shares
Now, number of shares to be issue to B Ltd. =5,00,000 —4,00,000 = 1,00,000 shares

Therefore, the share exchange ratio is 1,00,000 : 2,00,000 or 1:2. It means for every
two shares in B Ltd., one share should be issued from A Ltd.

(b) Final settlement amount shall be computed by using formula:
(N)(RR - FR)(dtm /DY)
[1+RR(dtm/DY)]
Where,

N = the notional principal amount of the agreement;

RR = Reference Rate for the maturity specified by the contract prevailing on the contract
settlement date;
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FR = Agreed-upon Forward Rate; and

dtm = maturity of the forward rate, specified in Months

DY = Applicable basis of months

Accordingly,

If actual rate of interest after 6 months happens to be 8.60%

(Z50crore)(0.086-0.083)(3/12)
[1+0.086(3/12)]

(%50crore)(0.003) (0.25) _ 3,75,000

= = =33,67,107
1.0215 1.0215

Thus, banker will pay a sum of ¥ 3,67,107 to P Ltd. and actual interest rate for P Ltd. shall
be as follows:

Interest on loan @ 8.60% for 3 months % 1,07,50,000

Less: Amount Received from the bank 3 3,67,107

Net Amount % 1,03,82,893

Effective Interest Rate 8.31%

(% 1,03,82,893/ T 50 crore x 12/3 x 100)

If actual rate of interest after 6 months happens to be 7.80%

(350crore)(0.0780-0.0830)(3/12)
[1+0.0780(3/12)]

_ (%50crore)(-0.005)(0.25) _ -6,25,000 _
= = =-36,13,046
1.0195 1.0195

Thus P _Ltd. will pay banker a sum of ¥ 6,13,046 and actual interest rate for P Ltd. shall
be as follows:

Interest on loan @7.80% for 3 months ¥ 97,50,000

Add: Amount paid to bank 3 6,13,046

Net Amount T 1,03,63,046

Effective Interest Rate 8.29%

(% 1,03,63,046/50 crore x 12/3 x 100)
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